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Examination Name KVS Junior Secratariat Assistant 01 MAR SH1
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Subject : GE_Q01-Q20_JA0TMARSH1
Question ID:- 1

Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. I am one of those who love the desert. It brings peace to my mind after the daily battle for
one’s bread. When I am tired of fighting, the green countryside doesn’t allow me to forget
my worries. Everywhere I can see flowers and trees, birds and beetles continuing the restless
struggle before my eyes. Each trying hard to win even if its own life is the death of another.

2% In the desert, however, the sun is the master; all else retires before its merciless rays. Only
where there is water does the earth of the desert gives a rich home to trees and flowers; but
one has to go a long way to find water in a desert, otherwise, it would not be a desert. So,
those who love the peace of a treeless and grassless place can stand on the top of the rocky
hill and see nothing around them but the sunbaked desert, with no signs of effort or passion
to disturb them. Then strengthened in spirit, with a rested and peaceful mind, they can
return to the battle for existence in the towns.

The phrase “daily battle for one’s bread” means :
(1) fighting the green countryside

(2) trying hard to win a loaf of bread
(3
(

4)  struggle for existence in life

e

battle with one’s neighbours

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 4, Option ID : -4

Question ID:- 2
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Read the passage given below and choose the most appropriate option to answer the question

that follow :

1. I am one of those who love the desert. It brings peace to my mind after the daily battle for
one’s bread. When I am tired of fighting, the green countryside doesn’t allow me to forget
my worries. Everywhere I can see flowers and trees, birds and beetles continuing the restless
struggle before my eyes. Each trying hard to win even if its own life is the death of another.

2. In the desert, however, the sun is the master; all else retires before its merciless rays. Only
where there is water does the earth of the desert gives a rich home to trees and flowers; but
one has to go a long way to find water in a desert, otherwise, it would not be a desert. So,
those who love the peace of a treeless and grassless place can stand on the top of the rocky
hill and see nothing around them but the sunbaked desert, with no signs of effort or passion
to disturb them. Then strengthened in spirit, with a rested and peaceful mind, they can
return to the battle for existence in the towns.

According to the writer which place is grassless and treeless ?
(1) top of a rocky hill

(2) asunny and dry desert

(3) both (1) and (2)
(4)

4 a garden of flowers and trees

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3

Read the passage given below and choose the most appropriate option to answer the question

that follow :

1. I am one of those who love the desert. It brings peace to my mind after the daily battle for
one’s bread. When I am tired of fighting, the green countryside doesn’t allow me to forget
my worries. Everywhere I can see flowers and trees, birds and beetles continuing the restless
struggle before my eyes. Each trying hard to win even if its own life is the death of another.

2 In the desert, however, the sun is the master; all else retires before its merciless rays. Only
where there is water does the earth of the desert gives a rich home to trees and flowers; but
one has to go a long way to find water in a desert, otherwise, it would not be a desert. So,
those who love the peace of a treeless and grassless place can stand on the top of the rocky
hill and see nothing around them but the sunbaked desert, with no signs of effort or passion
to disturb them. Then strengthened in spirit, with a rested and peaceful mind, they can
return to the battle for existence in the towns.

A green countryside represents :

a restless struggle

)

2)  peace of mind
) a grassless place
)

a rich green home

Options:-
.1, Option ID :- 9,
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« 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Iam one of those who love the desert. It brings peace to my mind after the daily battle for
one’s bread. When I am tired of fighting, the green countryside doesn’t allow me to forget
my worries. Everywhere I can see flowers and trees, birds and beetles continuing the restless
struggle before my eyes. Each trying hard to win even if its own life is the death of another.

2 In the desert, however, the sun is the master; all else retires before its merciless rays. Only
where there is water does the earth of the desert gives a rich home to trees and flowers; but
one has to go a long way to find water in a desert, otherwise, it would not be a desert. So,
those who love the peace of a treeless and grassless place can stand on the top of the rocky
hill and see nothing around them but the sunbaked desert, with no signs of effort or passion
to disturb them. Then strengthened in spirit, with a rested and peaceful mind, they can
return to the battle for existence in the towns.

Study the following sentences :
(A) In the green countryside, the flora and fauna are engaged in a never ending struggle for

existence.
(B) Life in a desert strengthens the spirit and provides peace of mind.
(1) Both (A) and (B) are incorrect
(2) Both (A) and (B) are correct
(3) (A) is correct, but (B) is incorrect
(4) (B) is correct, but (A) is incorrect
Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14

Question ID:- 5
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Iam one of those who love the desert. It brings peace to my mind after the daily battle for
one’s bread. When I am tired of fighting, the green countryside doesn’t allow me to forget
my worries. Everywhere I can see flowers and trees, birds and beetles continuing the restless
struggle before my eyes. Each trying hard to win even if its own life is the death of another.

2 In the desert, however, the sun is the master; all else retires before its merciless rays. Only
where there is water does the earth of the desert gives a rich home to trees and flowers; but
one has to go a long way to find water in a desert, otherwise, it would not be a desert. So,
those who love the peace of a treeless and grassless place can stand on the top of the rocky
hill and see nothing around them but the sunbaked desert, with no signs of effort or passion
to disturb them. Then strengthened in spirit, with a rested and peaceful mind, they can
return to the battle for existence in the towns.

“Restless struggle” does not mean -
1) undisturbed passion

J

) peace and rest
3) continued effort
4)  strengthened spirits

— —
S

Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 1, Option ID : -17

Question ID:- 6

Complete the sentence with the appropriate phrasal verb.

Radha is a bright and diligent student. Her teacher says she is understanding,
(1) quick at

(2) quick of
(3) quickin
(4) quick to
Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7
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Complete the sentence with the correct pair of articles.

What is use of univocal voice if it is not heard.
(1) the, a

(2) an, an

(3) the, an

(4) a, an

Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Select the word which is opposite in meaning to the word given in capital letters.
FORTITUDE

(1) courage

(2) benevolent
(3) tenacity
(4) cowardice
Options:-

.1, Option ID :- 29,

« 2, Option ID :- 30,

. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- Not Attempted

Question ID:- 9

Select the word which is closest in meaning to the word given in capital letters.
APPRISE

(1) acquaint

(2) inform

(3) Dboth (1) and (2) are correct

(4) (1) is correct, but (2) is incorrect

Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10
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Complete the sentence with the most appropriate word.
Deficiencies can be best corrected through

(1) remediation

(2) discovery

(3) deduction

(4) comprehension
Options:-

.1, Option ID :- 37,

« 2, Option ID :- 38,

. 3, Option ID :- 39,

- 4, Option ID :- 40,
Answer Given:- Not Attempted

Question ID:- 11

Choose the most appropriate phrase from the four given options that completes the sentence.

I captured a caterpillar that a butterfly.
(1) turned from

(2) turned onto

(3) turned in

(4) turned into

Options:-

.1, Option ID :- 41,
. 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 4, Option ID : -44

Question ID:- 12

Fill in the blanks with three appropriate vocabulary items to complete the given sentence.
She lived Australia 2008 2015.
(1) in, from, until
(2) in, from, during
(3) in, during, till
(4) in, between, until
Options:-
.1, Option ID :- 45,
« 2, Option ID :- 46,
. 3, Option ID :- 47,

- 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13
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‘To make clean breast of means

(1) to destroy openly
(2) to confess openly
(3) to praise oneself

(4) to gain prominence

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14

Which of the following activities you cannot do if you have ‘insomnia’?
(1) exercise

(2) sleep

(3) breathe well

(4) lose weight

Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

Complete the sentence.

We need to have more people on the staff who will act
emergency situations.

promptly and responsibly in

(1) seemingly
(2) dramatically
(3) thoughtfully
(4) nimbly

Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

- 4, Option ID :- 60,
Answer Given:- 3, Option ID : -59

Question ID:- 16
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Find the word which is spelt correctly from the given words.
(1) milenium
2) millennium

(2
(3) millenium
(4) milennium

Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17

Complete the sentence using the appropriate pronoun.

My laptop is not working. Can I use ?
(1) vyours

(2) your

(3) it

(4) their
Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18

Look at the words and phrases given below. Rearrange them to form a correct and complete
sentence by re-ordering the parts.

has become / with the / people today / eating out / a fashion

a b c d e
(1) d,a, ecb
(2) cebad
(3) edcba
(4) d,a, e b,c

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19
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Identify the parts of speech of two underlined words in the given sentence.
If T had known of your arrival, I would have come to the railway station to receive you.

(1) adjective, verb
(2) verb, verb

(3) noun, verb

(4) verb, conjunction
Options:-

.1, Option ID :- 73,

. 2, Option ID :- 74,

. 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20

Complete the sentence with the appropriate word.

My mother checked my temperature after the doctor had left the house.
(1) constantly

(2) casually

(3) deliberately
(4) wantonly
Options:-

.1, Option ID :- 77,

. 2, Option ID :- 78,

. 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GH_Q21-Q40 _JAOTMARSH1

Question ID:- 21

el fou 7T TTEnYT Wt ugeht Wead Wel faehed @ e sifag -

T 1 iifoe qem Tl €, 5 St fafy § wen =0 wwemn s w1 aee-siad 76 e T2
21 3 siftae Fre gen @ oi ‘gs 9’ & fou ufaget =99 81 9% stoet frafa = fedan € oiR wfess
=1 fauren ot | 58 enfties wenedi i wmferes wasT &1 Svee 7681 § 1 FIET 9o sl S ferme 35
SO Wi o iR & |

TR % STER A Fi oA5e © 2
() e =@ % foag

(2) WSl 1 STER A o
(3) FB T fag

(4) LGS 1 UreH & % fou

Options:-
.1, Option ID :- 81,
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« 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

e fou 7T TEnYT il Ugeht Tead WEl faehey w1 wu wife -

I 18 Hlifces qea el &, fo St fafy § wwen =0 wwsmn s 91 "ee-sied gd feifa &
B 1 39 st FaT gen € @R ‘s o1 % fore wiage = 81 9% sroet frafa e feian € el wfas
=1 e ot | 5 enfties wensti oir wmifoes waasT &1 Svee 78l § 1 FIET 9o sl - ferme 35
ST Wfek—HHT o i’ 2 |

‘seree T € F drewd § 5w e anfifes wenedi o |t st -
1) STAT STgH R A &

(

(2) AT S aTel T §

(3) iy A H = ®

(4) T €Y H @A T
Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
« 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23

e fou 7T TTEn9T ol Ugeht Wel Wel faehed et =T hifeg -
T i ifes qea el & o Setes fafy | wwen = wwsmen s ww ) wme-sian gd fuifa @
21 39 st Fa g € &R ‘gs a1 W fore wfage =@ 81 9% st frafa @ fean @ sl wfas
w1 e oft | 58 enfties wensii i amifoes wawsi &1 Svee 761 § 1 FHET 9o sl SHHT- ferme 35
SO Wi -—Hr o i) 2 |
TS % SHER A T HY TEl T 2
(1) o= F gRada %% &t wmed 71 &
(2) ISR TR e €, sraftedaeie €
(3) THE % eV Hod ufEfdd gr-t =fE
(4) I9F F ATIR geH uRafda F& 27 =ty
Options:-
.1, Option ID :- 89,
« 2, Option ID :- 90,

. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 1, Option ID : -89
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Question ID:- 24

et fou 7T TR Rl Ut T9d Hal foehed R 99 it -

T e ifdes qe el ®, o Setes fafy & gwen o wwsmn sn w1 oma-sian g fAuifa @
21 39 st FHE gel € @R ‘S FA % fore ufadet = 81 9% st fafa e fedan @ el wfes
=1 faerar off | =i enftfes wenedi it wrenfsres qiuust =1 d9ee 781 € | R gedl sl g fare1 35e!
ST Al -HH % T 2

e 1 o ferdiran 1 Seere ety H T fan T &2
(1) frEmEm

(2) fasmn g

(3) |m=EEH g

(4) s g==T A

Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
« 3, Option ID :- 95,

- 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25

e fau 7T e it UgeRt HaH Wel faened Rt ea shifaig -

T e ifdes e -l §, o st fafy & wwen @ wwemn sn Wk gma-sies g fuifa @
21 3T aftae T e @ &R ‘s 71 % fou gfaee =5 81 9% o fafa o feian @ oiR ufasy
=1 faeman off | 2 wnfties wensli iR Arifses Tt 1 99 Te1 € | FT6T geui il SH1- fameT S5
ST Wrfer—+TH1 o iR €

ey AR ® -
(1) 771 faada
(2)

(3) I I FERE
(4)

Options:-

.1, Option ID :- 97,

« 2, Option ID :- 98,

. 3, Option ID :- 99,

- 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26
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‘gr St 5 T9 @ yF g dfsm o

1333

Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

AR |

Question ID:- 27

Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Tl I o1 e & -

(1) @&
(2) @@
(3) e
(4) RN
Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
« 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29
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A TeE ol ISR & -
(1) afo

(2) 9%

(3) =

(4) SR
Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
. 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 4, Option ID : -116

Question ID:- 30

‘gr+ g’ forgen dfYr faede & 2
(1) TR

2 =

(3) "=

(4 TR

Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

- 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Question ID:- 31

‘grym’ & E@iy-faese § -

(1) =T+ =
(2) €%+ "
(3) AT+ &
(4) @ + ¥

Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32
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TeHH hT eI & -
(1) ==
(2 9
(3) =™
(4 fo=g
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127

Question ID:- 33

TG s 1 ST & -
(1) faom@

(2) fayfa

(3 7Y

(4) 9%

Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 34

‘gfa’ = faei o= ¥ -
(1) 3T9Afd

(2) el

(3) T

(4) M

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
« 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 35
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(1) et &

(2) e

(3) S HIE

(4) HEEH Bl
Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

- 4, Option ID :- 140,
Answer Given:- 1, Option ID : -137

Question ID:- 36

‘gfafe" o I
(1) <ges THH

(2)

(3) STRETYE HAH
(4)

Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
. 3, Option ID :- 143,

« 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

‘gt 3R’ | I el 995 9E § -

(1) HHNSR

(2) TSGR

(3) HHISR

(4) HHETST
Options:-

.1, Option ID :- 145,
. 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38
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(1) 9"
(2) <159
(3) W
(4) TR
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

Freafafeas § 9 os A © -

(1) el %1 Tk Hier 8l |

(2) = HEHd @ @ 91

(3) TSI T KT Y ST

(4) = T 1A & TE o W@ et

s

1
2

Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 3, Option ID : -155

Question ID:- 40

(1)  Sire
(2) d@d
(3) A
(49 A
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

- 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160

Subject : GK_Q41-Q60_JAOTMARSH1

Question ID:- 41
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The power to levy and collect Goods and Services Tax (GST) was conferred on the Government of
India by amending the Constitution of India. Identify the amendment :

(1) The Constitution (Ninety-ninth Amendment) Act

(2) The Constitution (One Hundred and First Amendment) Act
(3) The Constitution (One Hundred and Fourth Amendment) Act
(4) The Constitution (One Hundred and Fifth Amendment) Act

A o ST H HEA Fleh YT TR 1 a5 AR T &’ (S1.uH.21.) T iR 9 3 # AHER
Y o T § 1 39 GelleE 1 9eEE

(1) 99 =i Hfau™ HeieE sifufam

(2) 101 =i Hfau™ geneA stutram
(3) 104 =i Hfaym g9y sfafm
(4) 105 =i HiEee g3 Atafm
Options:-

.1, Option ID :- 161,

. 2, Option ID :- 162,

. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

Which of the following is not a Constitutional body ?
(1) National Commission for the Scheduled Castes
(2) National Commission for the Backward Classes
(3) National Commission for Women

(4) National Commission for the Scheduled Tribes

(2) T fawe o s

(3) T wfgen s

(4) WA sFgiEd SHSfd ST
Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43
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Which of the following commissions was appointed by the Government of India to inquire into

alleged excesses and malpractices committed during Emergency proclaimed on 25t June, 1975 ?
(1) Justice Raghubar Dayal Commission of Inquiry

(2)  Sri R. Prasad Commission of Inquiry

(3)  Justice Nanavati Commission of Inquiry
(4) Shah Commission of Inquiry

25 S 1975 i St ST & QH @i T8 Higd SAEfaal IR FHEERl $i Sig & fow TRa 9 3
frefafaa § § fra Sita s = Fgfe #i o2

(1) =i e g S S
(2) 4 SR WHIE Si" ST
(3) AEmfd AR SiE SAE
(4) ITE S ST

Options:-

.1, Option ID :- 169,

« 2, Option ID :- 170,

. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44

Names of leaders are given under List - I. Names of parties they were associated with are given
under List - II. Which of the following pairs under List - I, and List - II is not correctly matched ?

List - I List - IT
(Leaders) (Parties)
(1) Acharya Narendra Dev : Praja Socialist Party
(2) A.K. Gopalan 3 Communist Party of India (CPI) / Communist Party of
India (M) (CPM)
(3) Rafi Ahmed Kidwai § Muslim League

(4) C. Rajagopalachari ; Swatantra Party
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el - 1 % efaid Jaiedi o 9 fou 7w €1 gt - 1 & il gall o 9 feu 7 59 39 geifua o)
et - 1 3R Wt - 11 % Sfaid fou e v § | %4 o1 gafod 7&8 2

qeil- 1 gt - 11
(a3t o AT ) (TSR g61)
(1) s e < : ya Hiafere 9l
(2) U . g D R HE gl (HHLSE, )/ R e il
(HTRfaTET) (H1. 6 TA.)
(3) THI oTeg feread . Hfeed &
(4) i TSEIOTEATER : TEAd urEl

Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

Who founded the Newspaper, ‘Samvad Koumudi” :
(1) Motilal Nehru

(2) Swami Vivekananda

(3) Ram Mohan Roy

(4) Madan Mohan Malviya

(1) Hrdene Tew

(2) T faEwE=

(3)  THHIE WA

(4) HETHET A
Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46
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In which of the following options are the historical events arranged in correct chronological order,
with the earliest event placed at first in sequence ?

(1) Battle of Buxar, Battle of Haldighati, Battle of Chausa
(2) Battle of Chausa, Battle of Haldighati, Battle of Buxar
(3) Battle of Haldighati, Battle of Chausa, Battle of Buxar
(4) Battle of Chausa, Battle of Buxar, Battle of Haldighati

Frafafea § 3 forg fasey | tfaeifas seetl o 98t Frersy | sgafted e mn 8, e 9e98 v
Hfed S 1 %9 H gad Tg W& T8l 2

(1) =R hl TS, TeaIHR] i oels, AEl i Tek

(2) A F TSE, TEE hI ASE, dFH HI TSR

(3) TERITET I TelE, Al il TSR, T i TS

(4) =i I oieE, THR H oSE, Tl # el

Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

In which of the following given options are historical events arranged in correct chronological
order, with the earliest event placed first in the sequence ?

(1) Coronation of Bindusara, Outbreak of the Kalinga war, rise of Sungas
(2) Coronation of Bindusara, rise of Sungas, outbreak of the Kalinga war
(3) Outbreak of the Kalinga war, coronation of Bindusara, rise of Sungas
(4) Rise of Sungas, Outbreak of the Kalinga war, coronation of Bindusara

Trefefed § 9 ford e fasheq H Ufaaifaes gemsii &1 98l werd § SHafigd fe 7= 2, ey w99
Tgel Hfed WA %l %H § Ugel @l T 8 2

(1) TogHR 1 TAT9ueh, Hic g i Y&, i 61 384

(2) TorgHR o1 TsAITYEeh, G o1 354, el I§ i Y&
(3) i g i gEA, fogar &1 wsafases, g #1383
(4) Hi 1 32, HidT g5 FI gEAW, fagar w1 wfavs
Options:-

.1, Option ID :- 185,

« 2, Option ID :- 186,

. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185
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Question ID:- 48

Which of the following statement/s is/are correct ?

(A) Mangrove forests of India account for about 20% of the world’s Mangrove forests.
(B) Mangrove forests in India are found in Andaman and Nicobar Islands.

Select the correct answer using the code given below :

(1) (A)Only

() (B) Only

(3) Both (A) and (B)

(4)  Neither (A) nor (B)

Frefafed § & wH-1 & w2 2

(A)  wrd H Heite == gft & e == e 20 wfave fewm €
(B) oa H Hia o sfen IR fear g Tz H aren S g
= QU T e w1 FANT e Wal I 1 =4 Y

() e (A)

(2) I (B)
(3) (A) 3R (B) Tl

4) (A) 3R (B) ¥ & % =

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49

Which of the following statement/s is/are not correct ?

(A) Black soil covers most of the Deccan Plateau.

(B) Black soils are rich in lime and iron, but it lacks in magnesia.
Select the correct answer using the code given below :

(1) (A)only

(2) (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)
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Frefafaa o § 9 #9 9d 76 272

(A) el et 9@ % Uer % sifusie am H el g€ 71

(B) el gt I iR wiie @ wRqw B B, Sifer gwd Heafdren =6 et gt 81
e fU TTT 2 1 GAF Hih T2l I 1 =TI H

(1) e (A)

(2) <Faa (B)

(3) (A) SR (B) 31

(4) (A) 3R (B) § | *rE &

Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

Donation through electoral bond can be made to a registered political party in India, only if it has
secured a minimum percentage of total votes polled. Which of the following is that minimum
percentage ?

(1) 0.5%
2 1%
(3) 3%
(4) 5%

AT F-S & HIEAH § YRA H T Usilehd TSI ol bl o a+t f&a s g1 2, 574 3 ga 1 fued
AR 21 ot fagm=en & g 1 216 T e Tl 1 Tk FAan giaed g e 3 1 e F | 3 e
gfererd & § 2

(1) 05 %
2 1%
(3) 3%
(4 5%

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51
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When was the Reserve Bank of India set-up ?

(1) 1921
(2) 1935
(3) 1947
(4) 1951
et ot e e 5 g o 2
(1) 1921
(2) 1935
(3) 1947
(4) 1951
Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
. 3, Option ID :- 203,

- 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202

Question ID:- 52

Who among the following, popularized Ornithology in India ?
(1) Salim Ali

(2) Raj Reddy

(3) Birbal Sahni

(4) S.S.Abhyankar

frafafea § 9 free vra o geiifagm &1 Ay 59m 2

(1) el e

(2) TG

(3) e Het

(4) THTH FETH

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53
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GET IT ON
Google Play

Which of the following is the correct description about ‘Hermit’ ?
(1) It's a spyware

(2) It's a Tablet brand

(3) It's the name of a data protection software
(

4) It's the name of an antivirus

Treafafaa § 4 #-w ‘&t & an § =& faarm 72
(1) &8 % TEER |

(2) IE UF JHeiE H AE T

(3) U8 Uk S YLET WA H A1 ¥ |

(4) IE UH T=IAMERE A ¢

Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54

36t National Games were held in which one of the following states of India ?
1)  Jharkhand

2) West Bengal

3) Kerala

(
(
(
(4) Gujarat

Frefafaa § | g wRdE T3 5 369 TP Gl 1 ATASH gl o1 2

(1) =RES

(2) ufe=w s

(3) XA

(4) TS
Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
« 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216

Question ID:- 55
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Who was conferred with the Major Dhyan Chand Khel Ratna Award for 2022 ?
(1) Manika Batra

(2) Neeraj Chopra

(3) Virat Kohli

(4) Sharath Kamal Achanta

T 2022 % faU AR =F==< @d @ R efafed § 9 fw< yem e w2

(1)  #feh =60

(2) S =G

(3) faue wreet

(4) VXA HHA HAI
Options:-

.1, Option ID :- 217,
. 2, Option ID :- 218,
. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Question ID:- 56

Jnanpith Award for the year 2021 has been conferred upon :
(1) Nilmani Phookan Jr.

(2) Damodar Mauzo

(3) Tanikella Bharani

(4) Geetanjali shree

Ty 2021 * fau FHUE WERR 9 ford wofa R e 2 2
(1) remfT Fe, i

(2) TR Fes

(3) dfehen ST

(4) Tidrsifer i
Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
« 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57
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Which of the following statement/s is/are correct about ‘Climate Neutral Now Initiative "?
(A) It encourages stakeholders to achieve climate neutral world by 2030.

(B) It is a certification scheme for its participants

Select the correct answer using the code given below :

(1)  (A) only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

‘FAEHE =I2e TS sfhEfea’ % AR H frefated § 9 FE-m Fuh Th § 2

(A) 2030 % Siorary, 92Xy gl o e g A % fon 7 fequmel 1 e e
(B) =TT wfaafrd & foe =g v oo A B

= fU 7T 2 1 YA HLeh FEl ST T FIT H

(1) ad (A)

(2) Hud (B)

(3) (A) 3R (B) 3T

(4) (A) 3R (B) § | *E &

Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

Giorgia Meloni has been appointed as Italy’s first female Prime Minister. Which of the following
is most appropriate about her ideological learning ?

(1) Left-wing

( Right-wing

(3) Left-liberal

(4) social-democratic

Tomsian Helrt i gecil o1 WgH Aigen wurHsT @ o = §) fefafed § 9 #H-81 316 a9
ThTE o 9N H HaH 3UY® ¢ 7

(1) aYeq
(2) <farordelt
(3) dmM - SERare!

(4) HEIRSE - ARRdiAS

Options:-
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.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

- 4, Option ID :- 232,
Answer Given:- 4, Option ID : -232

Question ID:- 59

India has signed an ECTA (Economic Cooperation and Trade Agreement) in April 2022 with a
developed country. Identify the country :

(1) England

(2) USA
(3) Australia
(4) Japan

IR F 29 — 2022 H U fIhiad 89 & 919 9210, (3nfefs 9ednT 3iR SH9r 9esiar) W e&der o
21 U 0 I IEEH L

(1) zis

(2) JWE

(3) swefam

(4) STH
Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
. 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 1, Option ID : -233

Question ID:- 60

Olaf Scholz is Germany’s new Chancellor. Which party does he belong to ?
(1) Christian Democratic Union

(2) Social Democratic Party

(3) Liberal Conservative Reformers

(4) Free Democratic party

S vies AT 3 AU =eer 1w ge ¥ ) a8 fh ol & Hafta €7
(1) Torfe=em Samefes gfmm

(2) TN SHEhfeH el
(3) Tom@ sHerafea fwr
(4) Wl SHBRfEE el

Options:-
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.1, Option ID :- 237,
« 2, Option ID :- 238,
« 3, Option ID :- 239,

- 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Subject : LR_Q61-Q80_JAOTMARSH1

Question ID:- 61

In the following number /letter series some of the terms are missing which are given in that order
as one of the alternatives below it. Select the correct alternative.

C4NE2 H H BEQ16_ .
(1) 1,20,L,A

2 K, 20,M, A

(3) K 20,L,B

(4) X, 20, M, B

Frefafes gemeEr 9ot § =2 1g Mo € 5 A" R e faee o st % H faw o ¥ | wE fasen =
Waﬁm:

C24 NE22 H H 18EQ16 .

(1 120, L, A

(2) K, 20, M, A

3) K, 20,L,B

4) K,20,M, B

Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62

Certain pairs of words are given, out of which words in all pairs except one bear a common
relationship. Choose the odd pair.

(1) Ignore - Notice
2)  Solicit - Request
3) Create - Destroy

(
(
(4) Chaos - Peace
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vIesl o e g feu T E, foH § weft et & vl #, faem ww g %, v 9um Hay ® ) famm g
waﬁﬁq:

1) Y& AT - T A

2) ArEAl - A

3)  GSH R - foAmn e

4)  HE - I

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 2, Option ID : -246

Question ID:- 63

‘A’ is the father of ‘B’ and ‘C’ is the son of ‘D’. ‘E’ is the brother of ‘A’. ‘B’ is the sister of “C’. How
is ‘DY related to 'E’ ?

(1) Brother-in-law
(2) Brother

(3) Daughter

(4) Sister-in-law

AT B H SR D W E WE A B TeT § C B D R TR E | Hefud 2

(1) CEvEE
(2) e
(3) T
(4) /AT
Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 4, Option ID : -252

Question ID:- 64

Find the wrong term from the following number series.
20, 101, 165, 204, 250, 275, 291, 300

(1) 165

(2) 275
(3) 204
(4) 250
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freafafed gen 4ot § 9 Tad 9g Jd Hifu
20, 101, 165, 204, 250, 275, 291, 300

(1) 165
(2) 275
(3) 204
(4) 250

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
. 3, Option ID :- 255,

- 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

‘Face’ is related to “Expression” in the same way as ‘Hand" is related to _?

(1) Gesture
(2) Handshake
(3) Waving
(4) Work
‘weu’, afverfe’ @ SHY YR defua € S ‘e’ gefed § g
(1) <=y/EEHd
(2) B o
(3) T fEar |
(4 =
Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
« 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Question ID:- 66

In a certain code language “they are good’ is written as “la pa ga’, ‘good people are happy’ is
written as “la sa ga ra” and ‘I am happy’ is written as ‘ra ta ba’, then how will “people” be written
in this code language ?

(1) Ia
(2) ra
(3) sa
(4 ga
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GET IT ON
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YehI T s ?
(1) la

2 ra
3

)
) sa
4)

(
(
(4) ga
Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
. 3, Option ID :- 263,
. 4, Option ID :- 264,

ferelt wer fAfy=ra sre/derat s H, ‘they are good’ %l “la pa ga’ fer@n T Z, ‘good people are happy’
%l ‘lasa gara’ feran T € SR ‘T am happy’ I ‘ra ta ba’ fer@n T g, & HI e W1 H ‘people’ i fHd

Answer Given:- 3, Option ID : -263

Question ID:- 67

RECREATION

(1) TRAINER

(2) CONTAINER
(3) CORNER

(4) TERRAIN

RECREATION

(1) TRAINER

(2) CONTAINER

(3) CORNER

(4) TERRAIN
Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,
. 4, Option ID :- 268,

Find the word which can not be formed by using the letters of the given word.

TE VI ¢feU S U T 91eg % S1aRl 1 SUAW Aok ST RIS Hehdl

Answer Given:- 2, Option ID : -266

Question ID:- 68

12 i34z 2 189
(1) 72

2) 100

3

(2
(3) 65
(4)

54

Two numbers have a certain relationship to each other. Select the correct option which has the
same relationship as the original pair with the fourth number.
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< HeEme § ouw | ve Ffvaa de9y g1 39 9t fasey & = it fowd gensii & g9 79 % 96

2 =g Ten | e T
12 84 7 B9

(1) 72

(2) 100

(3) 65

(4) 54
Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

- 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

If in English alphabet E to R are written in reverse order, then in the new alphabet which will be
the sixteenth letter from right ?

(1) F
2 G
(3 L
(4 M

Ife 27t aviaren § EE R 1 ufaswd § e S, a0 92 aoiaren # €73 § Hidgdal 2181 i 91 8 ?

() F
2) G
(3 L
(4 M
Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 3, Option ID : -275

Question ID:- 70

The first two terms have a certain relationship. Select the correct option which has the similar
relationship with the third term.

RMIP :SOLT : UGKN : _ 2 .

(1) VINS

(2) VIMQ
(3) VIMS

(

4) VINR
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g < Yei ° ush Ffvaa gy § 1 55 wet fashey =1 == #ifee, foge d 98 % 91y =@ 999 de6Y 2
RMIP : SOLT : UGKN: 2 .

(1) VINS
(2) VIMQ
(3) VIMS
(4) VINR
Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280

Question ID:- 71

Find the odd one out:

(1) Stream

(2) Spring

(3) River

(4) Dam
[ERRREARICICII S 1
(1) "iEyEw

(2) =

(3) &I

(4) @™
Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 4, Option ID : -284

Question ID:- 72

Choose the correct option to replace question mark ( ? ) in the following number series.
137 1520, 31,0 87,76

(1) 43
2) 41
(3) 46
(4) 45
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Frefafaa den 9o § w97 fa= (7)) =i yfoeenfua & 1 w8t fases 9 -
1,18,9, T9:21, 81,7 /57,78

(1) 43
(2) 41
(3) 46
(4) 45

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

- 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73

How many meaningful words can be formed by using the first, second and third letters of the
word “WONDER’ using each letter only once in each word ?

(1) One
(2) Four
(3) Two
(4) Three

95 “WONDER’ % T&dt, T8 3T el 31/l o1 TN ohich UF foham s19iqol veg amme =71 wekal &, fores
Yoo &R W1 hael Uh 1 o SYANT feham a1 & 2

) T
(2) =R
(3) =
(4) dH
Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74

Pointing to a woman, Rahul said “The only daughter of her grandfather is my wife”. How is
Rahul related to that woman ?

(1) Brother

(2) Uncle

(3) Father

(4) Brother-in-law
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T Hieal F1 3R 37710 Xd gC UEA - Fal foF ' 3HF I i wemas i 7 ueht ') ugel fohe wehr 39
Tfgen § Hefua &2

() %
(2) =TE/HHAT
(3) Tuar
(4) &=
Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

In the fo]lowing letter series some of the terms are nﬁssing which are given in that order as one of
the alternatives below it. Select the correct alternative.

ab _dd _bccda_bec_a
(1) a,d b, c

(2) ¢, ab,d
(3) cadb
(4) a,c b d

Freferfad s1ar 4ol o 8 ve mEe € S e fou o faet v fosreg § 34 o fou o € | w8 fawmeq =

=4 Elﬁﬂ_n'ﬁ :

ab dd beeda be a
(1) a,d, b,c

(2) ¢ ab,d

(3) ¢ adb

(4) a,cb,d
Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298

Question ID:- 76
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In a certain code language ‘BATS =21, and ‘STAR" =29, then how will be ‘BRATS’ written in this
code language ?

(1) 28
(2) 36
(3) 50
(4) 30

forelt wer ffeed e gadl w1 H ‘BATS =21, 3R ‘STAR’ =29, T@ 34 %e W™ H ‘BRATS’ &l fFH
YeRrL foran s ?

(1) 28
2) 3
(3) 50
(4 30
Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
« 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 4, Option ID : -304

Question ID:- 77

Select the combination of the numbers so that the letter arranged accordingly will form a meaningful
word.

MAGTUERN
1 2345678

(1) 2,7,3,51,4,6,8
@) 2,78 51684
3) 7.6,4,5321,8
4) 3,51,28674

HEal & UH §A5H o =997 o, [ed deTaR ekl ] Hafed i W U AAYYf g o+
MAGTUERN

1 2345678

(1) 2,7,351,4,6,8

(2) 2,7,3,5,1,6,8,4
3 7,6,4,53,21,8
(4 3,5128674

Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
. 3, Option ID :- 307,
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. 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78

Some groups of letters are given, all of which except one share a common similarity, while one is
different. Select the odd one.

(1) Fyle
@ LgR
(3) GGy
(@) Ty X

el % % 9ge feu e €, S 9, foar vs wiE %, T 9H SEEG 9E F ©, Sidfe U i § ) fae

HYE &1 997 HIfT ;
(L) FppLg

(@ IR

%) GGy

(4) L.-?d XJ?.
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

If it is given 3 *587=1,6%7%5=32 then what will be 5 *+ 9 § §="?

(1) 53
(2) 37
(3) 67
(4) 29

g 34587=1, 6%7$5=32, TGN N T, 959 $ 8=27 &N TFN

(1) 53
(2) 37
(3) 67
(4) 29
Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
« 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316
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Question ID:- 80

In the following question two words have a certain relationship to each other select the correct
option, which has the same relationship as the original pair of words with the third word.

Import : Export : : Expenditure : _?
(1) Tax

(2) Debt

(3) Deficit

(4) Revenue

Trefafed yea 5 2 wes v gHl 9§ U Ffved yeR 8 gatud €1 39 wel fased & =9 whifee e oresi
% el T % HAF B drel e | e gl |

e .| ==, 2 .

4y TorE ()

(1) =+
(2) 7
(3) EET
(

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Subject : CL_Q81-Q100_JAOTMARSH1

Question ID:- 81

Identify the most easily understandable language by a computer system from the following
options :

(1) Binary language

(2) High level language

(3) English type language

(4) Programming language

frefafed fasmedl § 9 TF Fo Tuell 51 T STHET 9 968l ST arell Y91 &l UgEH i
(1) ST S

(2) TE-AA (IA TLA) 9

(3) SIS S T

(4)  GRIET W

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
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. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82

Identify the devices, that help a user to communicate with computer systems :
(1) ROM & RAM

(2) Input devices

(3) Output devices

(4) Input and Output devices

9 I BT TEEH i, 5 WeAm § U STERTeRd U eR YOG o |1 HER W §
(1) ™ (ROM) 3R W (RAM)

(2 FgEEA

(3) HARIYE IH

(4) TIE AR MY I3
Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

In computer terminology, Mbps stands for :
(1) Megabits per system

(2) Megabits per second

(3) Micro bits per second

(4)  Micro bits per system

FHef YEaEe! § Mbps (THEHTH) 1 &0 514 ¢ -

(1) Tmfaey o faeq

(2) W& W HHS

(3) wrEeHl fazq W gEs

(4) wrEehl foew W fawed
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,
. 4, Option ID :- 332,
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Answer Given:- 2, Option ID : -330

Question ID:- 84

UPS stands for :

(1) Unbreakable Power Supply
(2) Unbreakable Power System
(3)  Uninterruptible Power Supply
(4) Uninterruptible Power System

UPS (gdied) =1 &1 a1 & :
(1) HATSHaA JE TS

(2) STehee g fawn
(3) STEfETE R HETE
(4) AEelufese e fawed
Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- 3, Option ID : -335

Question ID:- 85

Which of the following is the smallest memory unit compare to the other available options ?
(1) Kilo Byte

(2) Giga Byte

(3) DPeta Byte

(4) Mega Byte

frefafaa § | 0 o= diee fowedl #t gorm § Fad S8 9usy 3E § 2

(1) Towel =gz

(2) e EEe

(3) faer smge

(4) HMERES
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
. 3, Option ID :- 339,

- 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86
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Which of the following is most preferred compared to other options for High Quality Audio-Video
output from a laptop ?

(1) LAN
(2) USB
(3) VGA
(4) HDMI

frefafaa 9§ 9 fFg o= fasred] &t gor | oiveid | 3= TUE 299994 38eYe e i & o gt
HiEieail

(1) LAN
(2) USB
(3) VGA
(4) HDMI

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87

Which of the following is not an example of Operating Systems ?

(1) Word
(2) Linux
(3) Android
(4)  Windows

freafafea § 9 0 v ufEes 9one! 8l 2

(1) =8

(2) ferred

(3) TgEs

(4) fae=
Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88
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Bing, Google and Yahoo are popular examples of
(1) RDBMS

(2) Search Engines

(3) Web Browsers

(4) Programming Languages

fom, T AR A % I See §
(1) RDBMS (SREEITATH)

@ W

(3) O TR

(4)  SRnfERT ST
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89

Which of the following software you recommend to design a multimedia presentation on Cyber
Security ?

(1) Microsoft Word
(2) Microsoft Excel
(3)

(

4)  Microsoft Power Point

Microsoft Access

HIga Gleql W Ush Hee Hitea Tfd TR % o fau o 378 9 fory |ieedat &1 309r & & Jele
<2

(1) HEHREE F2

(2) HIEHIETR TR

(3) HEHMEIG THRY

(4) HEHMETE qET 9iEe
Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90
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The most popular combination of short cut keys to copy some selected text in most of the MS office
applications is :

(1)  Alt+C
(2)  Alt+V
(3) Ctl+C
(4) Ctl+V

FAftrerin T AfRe Twlieed | =9t fafaa amel &t S w9 & fau g #t 9 widse st &
I9AFT fohan S © -

(1)  Alt+C

(2) Al+V
(3) Ctrl+C
(4) Cul+V
Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 3, Option ID : -359

Question ID:- 91

In which year, major amendment to Information Technology Act, 2000 was made ?

(1) 2001
(2) 2016
(3) 2020
(4) 2008

form adf # g Trifet sifufem, 2000 # yoE Seite fe T g 2

(1) 2001
(2) 2016
(3) 2020
(4) 2008
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364

Question ID:- 92
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Which type of network mostly we have in our office where a printer is connected with 2 or more
number of computer systems ?

(1) PAN
(2) LAN
(3) MAN
(4) WAN

TR HEeE H AR 58 YR w1 H2ash HiSE il ¢, {5 Aaream | e e 2 = swd s R
yonferdi & e Bl © ?

(1) PAN
(2) LAN
(3) MAN
(4 WAN
Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

Which of the following is generally the default extension of a Microsoft Power Point
presentation ?

(1) .ppp
(2) .mpp
(3) -ppix
(4 .pwpt

frefafea § | # @ faswey I AR W T TER ige v @ e i eadve e e ?
(D) .ppp

(2) .mpp
(3) .pptx
(4) .pwpt
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 3, Option ID : -371

Question ID:- 94
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Identify the company, which is not a popular developer of Antivirus software ?
(1) Tally

(2) Avast

(3) Norton

(4) Bitdefender

Y AT T UEHH hi SN USHERY e fasmfag % & fau T8 s St 2

(1) it

(2) SERE

(3) A

(4) feefether
Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95

Viruses spreads mostly through networks and infected
(1) Mouse

(2) Monitors

(3) Keyboard

(4) Pen drives

TPRY AU Tead sin dwfga . H Yo ¥
(1) #r=3H

(2) HIHR

(3) &R

(4) g
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
« 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96
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A digital signature is :
(1) an electronic signature of sender

(2) a unique identification of a sender

(3) a bit string giving identity of a correspondent

(4) an electronic, encrypted, stamp of authentication
fefoeet gxaem =1 87

(1) 99 1 ST TRNER

(2) ek I Afgdry vZ=H

(3) U for v, foud weaaert &t vg9H val =erdl ©
(4) TR I T SelFRie, SIHhICe Hal
Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

Identify the type of malware that we download onto our smartphones, disguised as a useful app
or game, but usually take control of our smartphones to damage and steal our personal data :

(1) Spam
(2) Trojan
(3) Worms
(4) Phishing

Y YTATIT sht U9 & f9 89 Ush ST T A1 714 A 3794 TEhH 3 SRAAIS &id 8, oliehd 79d
T 7% FAN THIEHM i FER L STeT ol T SiI 78 il © ;

(1) ¥
(2) M
(3) =
(4) fowfem
Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98
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To make our password a strong one, we must use in our password.
(1) alphabets and digits

(2) only special characters

(3) alphabets and special characters

(4) alphabets, digits and special characters

U UTHEE o1 Helgd % & ol g4 3EH 1 STERT AT e |
(1) =i 3R g

(2) o fagm o=

(3) @ IR faviv fowe

(4) =i, Heard 3R feosm ferm

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99

Identify the device used to boost up a weak signal in a computer network.
(1) UPS

(2) RJ45

(3) Modem

(4) Repeater

39 I3 FI 929 L, TS meqm | T Fee 429 & FHSR 9 il Hered R S o
(1) UPS

(2) RJ45

(3) Modem

(4) Repeater

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 3, Option ID : -395

Question ID:- 100
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GET IT ON
Google Play

Which of the following is one of the standard file extensions of a movie file ?

D g
(2) .avi
(3) .pdf
(4) .mp3

freafafed 3 9 #01 tF Faf=3 BEd & 996 FEd TFHyH § 2

(D Jjrs
(2) .avi
(3) .pdf
(4) .mp3
Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
« 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : QA_Q101-Q120 _JAOTMARSH1

Question ID:- 101

3 20 (7 .35
(625+25—14)+Zc,f——[gof@—6]isequalto:

15

(1) 28

(2) 25

(3) 19

(4) 17

: 3 20 (7 .35 _

(625 + 25 — 14) + 5 4ETE [5 of T 6]W%
(1) 28

(2) 25

(3) 19

(4) 17

Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

Question ID:- 102
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The greatest possible length which can be used to measure three lengths 11 m 34 cm, 5 m 13 cm
and 12 m 15 cm exactly is :

(1) 25 cm
(2) 27 cm
(3) 32cm
(4) 45cm

T‘ﬁ_—l?fﬁrs’?ﬁ11mSél:cm,SmlScmSﬁIHmlScm_cl-?l‘El—I{lﬂT‘ﬁ%mﬁWﬁﬂaﬁﬁﬁ%:

(1) 25cm
(2) 27 cm
(3) 32cm
(4) 45cm
Options:-

.1, Option ID :- 405,
. 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

The value of (/35 + 513 — [35 — 513 lies between:
(1) 3.1 and 3.2
2) 3.2 and 3.3
3 3.3 and 3.4

(
(3)
(4) 34 and 35

J35 + 5418 — /35— 513 FHA A E A= H &
(1) 3.1 3R 3.2

(2) 323m33

(3) 3.3 3R 34

(4) 3.4 AR 35
Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104
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435 X 435 X 435 + 315 x 315 x 315 |,

The value of 5 % is equal to :
(435)" + (315)" — 435 x 315

(1) 120

(2) 240

(3) 375

(4) 750

435 x 435 X 435 + 315 X 315 X 315

5 5 1/ SR S
(435)° + (315)° — 435 x 315

(1) 120

(2) 240

(3) 375

(4) 750

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105

If the 8-digit number 6x3495y8 is divisible by 88, then the maximum possible value of (3x +2y) is :

(1) 13
2) 31
(3) 353
(4) 34

Ifq 8-31hTd HEA 6x3495y8, 88 ¥ fausd &, a1 (3x+2y) 1 SAHehas H&A1 9 % :

(1) 13
(2) 31
(3) 33
(4) 54
Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 4, Option ID : -420

Question ID:- 106
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Working 8 hours a day, 12 persons can finish a work in 40 days. Then, in how many days the
same work can be finished by 20 persons, working 6 hours a day ?

(1) 42 days

(2) 40 days
(3) 36 days
(4) 32 days

8 =e ufd fe7 e =ed gy, 12 =afaa foret v 1 40 T&7 o 99T &2 Hehdl 81 9, SHT & 1 20 =t
6 =12 ufd fo = % gu foFas fea § gurg #4012

1) 42T
(2) 40 f&
(3) 36 faa
(4) 32fea
Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

Q is twice as fast as P in doing some work. If P and Q together can complete a work in 15 days,
then in how many days can P alone complete the same work ?

(1) 45 days
(2) 40 days
(3) 36 days
(4) 32 days

ferelt =14 =l oA H, P ol ga H Q g TIfd | w1 e g1 Afe P 3R Q e o forelt & =1 15 e
T QU T Wehd T, A Tt P Rl 341 e 1w H fohan feT @ 2

(1) 45 f&=
(2) 40 fed
(3) 36 feq
(4) 32f&m
Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 1, Option ID : -425
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Question ID:- 108

The average age of 11 players of a cricket team is increased by 4 months, when two players of age
17 and 22 years are replaced by two new players. The average age of the two new players is :

(1) 21 years 4 months
(2) 21 years 2 months
(3) 20 years 10 months
(4) 20 years 8 months

fereit forehe 21 & 11 faenfedl =1 oied 31y § 4 A8 # gig B Sdl 5, S 17 3”22 99 & 377 97 o
Trareredl & T W 31 U faere! v fan s €1 39 70 <1 faenfedl &1 siaa o7 @

(1) 213449E

(2) 21Fd829E

(3) 20@H 10 91

(4) 20949 8HR

Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109

The average age of 15 students is 16 years. On including the age of their teacher, the average age
becomes 17 years. Age of the teacher is :

(1) 36 years

(2) 32 years
(3) 28 years
(4) 24 years

15 faenfi=i =t oitaa o1 16 9 B 1 37 et &t omg =1 afmfed 3 =, ofea o 17 9 € 57 81
ﬁfﬁﬁ@ﬂﬂ%:

(1) 36 @4
2) 3294
(3) 289
(4) 247H
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,
« 4, Option ID :- 436,
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Answer Given:- 2, Option ID : -434

Question ID:- 110

When the price of rice increased by 32%, a family reduced its consumption such that the expenditure
on it was only 10% more than before. If 5.4 kg rice was consumed initially, then the new
consumption of rice is :

(1) 4kg
(2) 42kg
(3) 45kg
(4) Skg

& =Ee % Hed H 32% i gfg Bl €, 99 U URAR 39! @hd H 79 @8 ¥ FHHl Hdl ¢ fh 39 W gl
Y TEd § Haa 10% 31fek w1 81 Afg oy § wad # 5.4 kg @A o, 9 @ FEa & T8 @

T

() 4kg
(2) 42kg
(3) 45 kg
(4 5 kg
Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439

Question ID:- 111

20% of a number x is 25 more than 7% of 200. Then, the value of x is :

(1) 195
2 39
(3) 78
(4) 390

ot T x FT20% T 200 F 7% T 25 fum 21 a9, x HHAE

(1) 195
(2) 39
(3) 78
(4) 390
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
« 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441
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Question ID:- 112

The cost of a table is 150% more than that of a chair. If the cost of a table decreases by 15% and
that of a chair increases by 50%, then what is the percent increase/decrease in the total cost of 2
tables and 5 chairs ?

(1) Decrease by 10%
2) Increase by 17.5%
3) Decrease by 12.5%

(
(
(4) Increase by 12%

T S 1 e UF FH1 % 9ed § 150% A 81 Al v 99 F g § 15% F FH 99 vk FH F
qea § 50% =t gfg ot ], f 2 Bt iR 5 HdA % Far gea A fara wioew gfg/ = anf 2
(1)  10% T AT

(2) 17.5% =t gfg
(3) 12.5% I HHI
(4) 12% =i gfg
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 2, Option ID : -446

Question ID:- 113

A shopkeeper bought some rice at ¥ 50 per kg and 100 kg rice at T 55 per kg. He sold the mixture
of these rice at the rate of ¥ 60 per kg and earned a profit of ¥ 1500. How much rice was purchased
by the shopkeeper at X 50 per kg ?

(1) 120 kg
(2) 110 kg
(3) 105 kg
(4) 100 kg

T GHER A F =6d 50 Hid kg 1 & H Wl 9241100 kg =red T 55 Uid kg &l & § @l | =m@al
% 39 fhHgm =1 399 T 60 9fd kg 1 X 9 o9 5o 991 39 ¥R T 1500 1 19 9 fohan | 36 gHAER A
% 50 fd kg i & & oo = @i 92

(1) 120 kg
(2) 110 kg
(3) 105 kg
(4) 100 kg

Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
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. 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452

Question ID:- 114

A container has 216 litres of a mixture of milk and water in the ratio 5 : 1. If 4 litres of water is
added to this mixture, then the ratio of milk and water in the new mixture will be :

1) 9:2
(2) 5:4
(3) 3:4
(4) 4:3

fopett o= g o U %1 5 1 % oTArd H 216 ol fagor &1 afe 39 fago § 4 ofex i faen fean s,

Tt u frgor H g R 9 1 ST 6
(1) 9:2

2) 5:4

(3) 3:4

(4 4:3

Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115

Three persons A, B and C are partners in a business. A invested one - third of the total capital,
while B invested the amount equal to the sum of the amounts of C and A. If at the end of year,
profit earned was < 33,600, then the profit of B will be (in ) equal to :

(1) 11200
(2) 14400
(3) 16800
(4) 19200

o =afad A, B &R C Ts =99R H OEfieR €1 A 7 & st o ush-faer faw foen, siafs B 3 C eijA
T gAUTYE & A0 o FUer shi g fafed 1 afg ad o 3a ° 233,600 1 9 gA1, o B H AW
(TH) &

(1) 11200
(2) 14400
(3) 16800
(4) 19200

Options:-
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.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

If the rate of simple interest is reduced from 9% to 8.5% per annum, then actual reduction in a year
in interest on a certain deposit is ¥ 624. Then, that deposit is :

(1) T 1,28,400
2) ¥ 1,24,800
3) ¥ 1,22,000

(
(
(4) T 1,20,800

g HURY &47S1 1 alfieh &% 9% H 8.5% L &l Sl &, al forsll fora s ufer o =arst § uh o o ara
H T 624 1 HHT &1 S 1 o ST U ¥

(1) < 1,28,400

(2) ¥ 1,24,800
(3) ¥ 1,22,000
(4) < 1,20,800
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
« 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462

Question ID:- 117

A certain sum amounts to I 33,000 at 13% per annum simple interest in 5 years. This sum is equal

to:

(1) < 20,000
(2) < 22,500
(3) ¥ 25,000
(4) ¥ 30,000

s fadrg umwfer 13% anftfs ramor =5 &t € 9 5 99 § 33,000 B G &1 98 SR SE §
(1) % 20,000
(2) % 22,500
(3) T 25,000
(4) T 30,000

Options:-
.1, Option ID :- 465,
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« 2, Option ID :- 466,
. 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

A certain sum amounts to ¥ 29,282 at 15% p.a. in 2 years, interest compounded 8 - monthly. What
will be the compound interest on the same sum at the same rate and same time period, if the
interest is compounded yearly ?

(1) T 6450
(2) T 6,772.50
(3) T 7,095

(

4y T 741750

12 T 15% anfifer g2 & 2 9 7 229,282 81 it 7, srafer =1 wfa 8 9 uy=ma Gafed S g1 39t afy
Y 3 =TS g Y A4 & gHA H Tohaan wehafy < 2, Afe = anfties Saifed e & 2

(1) T 6,450

2) T 6,772.50

3) % 7,095

4y R 7,417.50

(
(
(

Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

Two trains of lengths 108 m and 112 m are running towards each other on parallel tracks at
speeds of 46 km/h and 53 km/h, respectively. They will cross each other completely in :

(1) 10 seconds
(2) 8 seconds
(3) 5 seconds
(4) 4 seconds

108 m 3R 112 m et & Yermfeal quiaw qefdi o2 A9 46 km/h 37 53 km/h %1 Tl 9§ Tk gH &I
3R =@ @ €1 9 U ga @l e g § gol ® Y § aR o @

(1) 10 HsHve
(2) 8 H&UE
(3) 5 H&US
(4) 4 HFUS

Options:-
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.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

- 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120

A sailor rows a boat 18 km downstream in 4 hours. If he returns back the same distance upstream
in 12 hours, then speed of the stream (in km/hour) is:

(1) 1.25
(2) 15
3) 1.75
(4 2

e A1 Tk 19 1 R % WY 18 km i g0 H1 4 5 § @ 21 IS 98 961 g arfus g/ & fawda 12
Ef%ﬁm%,?ﬁ%mﬁa{a(km/ﬁa)%:

1) 1.25
(2) 1.5
(3) 1.75
(4 2

Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478
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